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1. T W EH & G 918, 37T TH UNeIUT YRehT ki UgdTel 3Tavd WY of TR gad wig femr
BUT, WeT A1 TLT T TS ST U9H ofE 7 e afs Tar &1 & 39 6t udreron it & aga
N

2. STR-UFh ¥ WET WM W URIeT0T YRRt 3T A, B, C A1 D aunfiafa e §9 ¥ Hedg S|

3. 39 Ufe & WY H I MU wISw H YR ST
IFTshTl o B e gfkedt W ik $w T
forg|

4. 79 T gReeRt W 100 YA (F9) R TR yee yer & oW ol # ww 71 v e
o ¥R YR (W) & 7Y B1 57H W Uh YRR 1 gA o, 9 1Y SW-useh W aAfehd he =
g =g k! TH ol foh Th W o1 Yotk WEl € A SH Wegwl okl 3ifehd sy S SMTeR! Herd ol
TIF JEAS & ol weet Th € T A R

5. U o W YegR ool § T MY SW-we W@ Sifhd i 1 Sw-wie § e
3@ I

6. Gt gTA & 3 GHAM B

7. 399 9B fob o9 qdemn giegent & fafy= geaien & TR SW-UEE W SAfehd I YE HL, U]
TAY THOI-U o W U STREl b SER e faeRel Sw-wsh 6 S €

8. MY 3 Wl Y l ITW-TAF H WA &% 9% 91 & & FHO W hadl -0 efereh
Tia <) Ul o1 @ The YRR of S kT sTEfd R

9. T3 MW & fo1d HB Tk T gEH & 3d § TG 2

10. e ST & o g%

TS YyA-uAl B Suiigar grT fad U ew s & fer 9 femn smom

(i) T Yo % ford WR Sspfeqs ST B SHASAR gR Yo% WA & ford i3 U uw Tew S ow fod
e 7q o fofa U stei &1 Uah-Taets v & &9 # w1l s

(i) I I SoHTaR T @ afues ST 2, @ 30 e I A SO, =R G T S § W U W
el ¥, 39 9 & fod SwsageR € ] e s

(iii) 9% SHHGER gR1 H1E weH Bl &l fepan a1 € @reifq SWieR g SwR Tl fea W €, 9 39 e &%
o =g gug T fean s

5 T STl TE URIUT YAt G sl T gl ST ad a7 T




1. fr=fafaa wu | fa=ar Fifse:
1. HTel GR HASH sAhASe 1 Fel gt 3R
T # d g B T F FR B 2
2. T TR W # A g e A
AEAESe T SfaferdM uR o S161 Se
w2l
3. HTel UR GASH € i |l § T o) gl €l
ST wUAl § ¥ HE-9 T 2
(a) Woe 1 3N 2 (b) ot 1 3R 3
(c) ®ad 2 3N 3 d 1,2 33
2. UfgeR® TR g 78 & of-foam &1 95 T 9
U A1 S & W=iad |ed 1 g1 e 3q
fewga fepan wn 22

(a) gEwAfq (b) WA
(c) T& (d) I¢
3. Frefafad g W foam Fifm:
SURTUT EaE]

1. A SAfedisH sA-Hie @ SRS SR 29
e gfearssem
TEURHe (MOXIE)

2. TR THSR BN AE ;UM I @S
Haghy THRIURHe (RIMFAX)

3. TRl TRHS R ;. THEfe aw @l
T e v T
(PIXL)

T T Y Y SRR T g 2

(a) w1 (b) e 2 3R 3

(c) ae 1 3R 3 (d 1,2 33

4, HTA 2020 oM fRw ISUSO ® R AUEH, g9
1 TIfd, e, <o, Arifee ST iR oa % SRR
T T HM?

(a) oA

(b) HEHH-2

(c) W TARRAHS SRMMHE TATESR

(d) =l sEHe B -t fauie it

5. Frfafed el W four St

1. Sl & |eft SiAM SIRTIT (RNA) 9 59 8
&, SEfeh oPRE % S S T SREAY
A 9 faftfa & 2

2. Toelt SRy # SARadd &1 acd 39 STwA
o ofads @ 2, e sue o) ot

B B
ST weAl § ¥ HE-T/A T 22
(a) Had 1 (b) o 2
(c) 1 3 2 g (@1, A2

1. Consider the following statements:

1. The Mars Solar Combination Blackout event
is caused by the coming of the Sun between
Earth and Mars.

2. lonized gases emanating from the Sun during
Mars solar conjunction interfere with spacecraft
communication.

3. Mars solar conjunction occurs once every three
years.

Which of the statements given above are correct?
(a) 1and?2only (b) 1and 3 only

(¢) 2and 3 only (d) 1,2and 3

2. The Perseverance rover is designed to better

understand the geology of which planet and find the

earliest evidence of life?
(a) Jupiter (b) Mars

(d) Mercury

3. Consider the following pairs:

(c) Venus

Tool Function
1. Mars Oxygen In-Situ :  For Oxygen
Resource Utilization Production

Experiment (MOXIE)
2. Radar Imager for Search for water
Mars subsurface
experiment (RIMFAX)
3. Planetary Instrument Chemical Elements
for X-ray lithochemistry detection
(PIXL)
Which of the above pair(s) is/are correctly matched?
(b) 2 and 3 only

(d) 1,2and 3

(a) 1 only
(c) 1and3 only

4. With which instrument will the Mars 2020 mission

measure temperature, wind speed, direction, pressure,
relative humidity and dust size?

(a) Supercam

(b) Mastcam-2

(c) Mars Environment Dynamic Analyzer

(d) Planetary instrument for X-raylithochemistry

5. Consider the following statements:

1. All genomes of organisms are made up of RNA,
whereas the genomes of viruses are made up
of both DNA and RNA.

2. Mutation in a virus refers to a change in the
sequence in which its molecules are arranged.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and2 (d) Neither 1 nor 2
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6. ST TRT0 & ded o, frefafed wo =
faar =ifsa:
1. =78 fodt Sfa & SHm &% qof Shedu oA
i freifa e &1 gfwan 2
2. TH® ofaid SuAy § Hisg WX qwl A 9
HId TSHH AR TR ® FHH HT udl

M S R
ST FweAl § ¥ HE-T/A T 22
(a) woa 1 (b) Fad 2
(¢) 1 &R 2 T (@ Fd 1, T2

7. frafafes s ® faar wifsa:
1. IPV6 T Uieihial &1 Teae TRl &,
St 128 fae USW WUNEl @ WeAw ¥ 340

Eifafea oM aren U Afgda TS wE
YSH Il B
2. IPV4,1P %1 Tgel Y@ H&h o, S 64-foe
TSH THH H1 ST FH 2
ST FUA § ¥ FE-A/8 8 222
(a) Had 1 (b) A 2
(c) 1 3R 2 T (Fd1, T2

8. Ioqs 9 Ui, 2021 & el o, Fr=fafaa et
R fa=ar FifsE
1. 7 T g e % fave dew famm e
(WMO) 5/ SI’I &T TE|
e ful ufqeagar faua &1 e &
Saarg afEdd & fEfba w@ o« fa
ATIYTIE heHl den ardfaehal § 39 feIm o
TGN TR o @ warEl & i S o
T B
ST FUA ¥ ¥ FE-T/A T 222
(a) Had 1 (b) Had 2
(¢) 1 ¥R 2 M (d Fd 1,782
9. T T AU HEHHA (UNEP) & e o,
frefafed waml w foer Fifs3)
1. &I T 99 1972 H HAE GAERU T
wwgm o oA gH U e &
< g2 ol
2. TH |G &1 YA 35 TAERl i FHIfd
HE o T A o S Wedn
FEH qon vAteRer Heet @i H wgfua
SRR I R T d e s B
3. 3@ WS & geaed IRg (W) § 2
ST Al § ¥ HE-H T 2
(a) ae | 3N 2 (b) o 2 3R 3
(c) @ael 1 3R 3 (d) 1,2 3R 3

6. With reference to genomic sequencing, consider the
following statements:
1. Tt is the process of determining the complete

DNA sequence of an organism's genome.

2. Under this, out of the four elements present in
DNA, only the sequence of adenine and

cytosine is detected.
Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements:

1. IPV6 is the latest version of the Internet
Protocol, which provides unique address
spaces with 340 undecillion values through a
128-bit address system.

IPV4 was the first major version of IP to use
a 64-bit address scheme.
Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
With reference to the Emissions Gap Report, 2021,
consider the following statements.

1. This report was released by the World

Meteorological Organization (WMO) of the
United Nations.
This report assesses the commitment gap and
shows the gap between the steps needed to
control climate change and the actual efforts
being made by nations in this direction.

Which of the statement(s) given above is/are correct?

(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
9. With reference to the United Nations Environment
Program (UNEP), consider the following statements.
1. It was established in 1972 during the United
Nations Conference on Human Environment
held in Stockholm.
The main objective of this organization is to
increase international cooperation in all
matters affecting the environment and to
ensure cooperation by obtaining proper
information in environmental work.
The headquarters of this organization is in Paris
(France).
Which of the statements given above are correct?
(a) 1and?2 only (b) 2 and 3 only

(c) 1and 3 only (d) 1,2and 3
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10.

11.

12.

13.

14.

frfafea Faai ) faar wifs:
1. fova drw foam w0 fave g famm
S (WMO) =1 Fatea ek 2
2. fova drem foam &34, 2021 99 °, ‘o
TE FEHZ HITRHE' Fed TE darel
fegellem’ 1 =won &1 TE)
3. 9Ra fava Ow fag@ @6 (WMO) &1

T R
ITdE weA § ¥ HE-w/A T 22?
(a) HadA 1 (b) ®aet 2 3R 3
(c) @ae 1 3R 3 (d 1,2 W3
frfafed RS | faer Fiia:
1. 98 =de ot

2. el GHEH SR TUER ok
3. Y@ & I9E Fl HH BT

4, @E e

5. =4 TR ST
Srfa wrEESE § 9 feae fave dem famm
FHAE g T o wREST § i fe
T #?

(a) oe | 3N 2 (b) o 2, 3 3N 4
(c) ®aed 1,2 3R 5 (d) Suge @il
HEE dfermR & ded H, frefafed sua
foar =ifsa:

1. 39 diferR i 39 e 9 fesrea fman mn 2
fF I8 39T UHT H TEENfHd H HEA
eEsfEe =R afufwar w1 3Afa
o Hem 2

2. TH 3OS ¥ TYUd HIEhIRY e ATHeh
T A B R

SugE w9 hiA-w/A wEl ge?

(a) Had 1 (b) o 2

(¢) 1 &R 2 g (d Fa1, T2

frfafed seTet ) faur sifs:

1. TS et fawand

2. TR A JUFRTOT TETdl

3. HERM S H Iureld

Sude § M Sl W W RE-W Sl e
RS H Yodaisd SR § 9ged & fod
HIE-SaRE W AR w22

(a) Woe 1 3N 2 (b) ®aet 2 3R 3
(c) ®ae 1 3R 3 (d 1,2 W3
forferfam s Toif W FrER FRE:

€ VRN o 5o | oo 2

7€ 919 W eoh! el B

e T BSE g9E U w2

T8 w9l 7w o wer S 2l

TE THA TR H A 1 FE0 w2l

ok =

10. Consider the following statements:
1. The World Meteorological Congress is the apex
body of the World Meteorological Organization
(WMO).
2. Inthe 2021 session of the World Meteorological
Congress, a'Water Declaration' was announced,
including the "Water and Climate Coalition'.

3. Indiais a member of the World Meteorological

Organization (WMO).
Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2 and 3
11. Consider the following action plan:

1. early warning system

2. Water Resources and Quality Assessment

3. Mitigating the Effects of Drought

4. Food Safety

5. High Quality Data

Which of the above action plans have been included
in the Hydrology Action Plan by the World
Meteorological Congress?
(a) 1 and?2 only (b) 2,3 and 4 only
(¢) 1,2andS5 only (d) All of the above.
12. With reference to organic polymers, consider the
following statements:

1. This polymer is designed to absorb visible light
and catalyze carbon dioxide reduction
reactions.

2. This catalyst contains a chemical called
conjugated microporous polymer.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(¢) Both 1and?2 (d) Neither 1 nor 2
13. Consider the following events:

1. light absorption characteristics

2. Charge carrier separation efficiency

3. Presence of Conduction Band

Which of the above given events depends on the
photo-catalyst to convert carbon dioxide into value

added products?
(a) 1and?2 only (b) 2 and 3 only
(¢) 1and3 only (d) 1,2and 3

14. Consider the following physical properties:
1. Itis colorless and insoluble in water.

. Itis lighter than air.

. It produces a greenhouse effect.

2
3
4. Ttis also called marsh gas.
5

It produces ground level ozone.
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15.

16.

17.

18.

19.

St 3 U sdifqe o e T @ s o
(Physical Properties) &l & &t 2
(a) e (b) EeH
(c) rEgisH (d) BTEgISH
ifewa & Ty ¥, frAfafa wemi W faar wifsal
1. Sifewa &1 2010 H UL oA 9] & €9 F
= T
2. U RN qR T oy 1801 | @i T |
3. ¥ whadl FHY A4 § U St}
ST weAl § ¥ HE-T/A T 22
(a) e 1 (b) e 1 3R 2
(c) a2 3N 3 @ 1,2 33
frfafad woi | faur wifs:
1. COP-26 =1 TS IAseE fohTed & hrard
TR H fohan mm
2. YRd & WE 9 T FA & IER, T4
2030 T FHTH IS I 50% TH FE

STE weA § ¥ HE-E/A wEl 22?
(a) ®ad 1 (b) Fa 2
(¢) 1 &R 2 T (@ Fd1, T2

B € R uel B W fad arda =g gan
(AIJS) & HeH H frfafed werl W fo=m wifva:
1. 3@ 9a1 & 99H &1 four ugelt 9r fafy
T T 14° Ruid | fg=n T
2. =9 1996 ® wH =Afaeh daq @ A faen
TS TR W SEhT TARINET &1 eff|

STF FUA § ¥ SE-T/8 TE T 22
(a) e 1 (b) HaA 2
(c) 1 3R 2 g (d Fd 1,92

JRa H TR iR feudt TR si 1 yeeTd fRa
sifufem & a8ad gg?

(a) WRA TR AH, 1909

(b) WRd GR fuft=E, 1919

(c) WRa W&hR fufd, 1935

(d) 9Ra e IfufEm, 1947
T € o 9RdTE gt 3 et § 9 sE-9
foranfeq T o1 fed & w1 om 2

1. eTEvges o (HeneE) fadgae, 2020

2. fFam U =R wd afsg (Fasd @

gfaun) fage®, 2020

3. faga (v IfusRr) a9, 2020
F= fed MU w2 *T FEEa § HE IW B T
i

(@) 1 32
(©) 1,2 33

(b) 2 3R 3
(d) 379 | HiE =l

15.

16.

17.

18.

The above given physical properties represent the
physical properties of which gas?
(a) Methane (b) Ethane
(c) Nitrogen (d) Hydrogen
With reference to dolphins, consider the following
statements.
1. The dolphin was recognized as a national water
animal in 2010.
2. It was officially discovered in the year 1801.
3. Itis found only in Narmada river.
Which of the statement(s) given above is/are correct?
(a) 1 only (b) 1 and 2 only
(¢) 2 and 3 only (d) 1,2and 3
Consider the following statements:
1. COP-26 was held in the city of Cornwall,
United Kingdom.

2. According to the statement issued by India, by
the year 2030, carbon emissions have to be

reduced by 50%.
Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only

(¢) Both 1and2 (d) Neither 1 nor 2
With reference to the All India Judicial Service
(AILJS), which has been in the news recently, consider
the following statements:

1. Theidea of creating this service was first given

in the 14th report of the Law Commission.
2. It was recommended by the First Judicial Pay
Commission in 1996 at the district judge level.
Which of the statement(s) given above is/are not correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Under which act the Speaker and Deputy Speaker
posts were introduced in India?

(a) Government of India Act, 1909

(b) Government of India Act, 1919

(¢) Government of India Act, 1935

(d) Government of India Act, 1947
Recently which of the following controversial laws
has been announced by the Indian Prime Minister to
be repealed?

1. The Essential Commodities (Amendment) Bill,
2020
2. The Farmer Produce Trade and Commerce
(Promotion and Facilitation) Bill, 2020
3. Electricity (Consumer Rights) Rules, 2020
Select the correct answer using the code given below:
(a) land2 (b) 2and 3
(¢) 1,2and3 (d) None of these.
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20. & 12 faee T faenfaet g oifitd & Teorme
% foramued o S ? A SHE U AfueR 28
1. fad=s =+ oot =i
2. fadge W et wiefa Wiaa @

3. fadge =1 yumEst & foamea e
ExdGl

4. = favees b fadgs € af wg o
1 gAfER & ford e 2
h:
(a) Had 1 (b) ®aet 1 3R 2
(c) ®ael 1,2 3R 4 (d) ST @il
21. T TR WIfUhRTor (NMA) fva Tamer™ & e1efq
T HL 2?2
(a) IR HATGEH (b) TE HATGA
(c) HEHfd HATCH™ (d) e Haer
22. frefafed g W faar wivE:
TG IETHH 3w

1. T - 9RA ¥R e
2. W Wi - 9Rd SR gEMiE
3. 9% AWE - 9RA SR S
STfE § § SE-"/8 T gafaa @ 82?2
(a) ®aaA 1 (b) Haa 2

(c) Hae 1 3R 2 (d) e 1 3R 3
23, fr=fafad womi W faar wifsa:

1. SATR Gl GRESHT i oY 2014 % SR
SARY foRam T e

2. 1 3 g3 faeg WwT-2020 H ARG H
6391 T W g ol

ST werl § ¥ wA-G/A TE 22
(a) ®ad 1 (b) Had 2
(c) 1 3 2 g (@@, A2

24, YHFEE AN TR 3R Ued w19 (R, de
®g) & 9 # fefafad sl W faar wifsH:
1. I8 TH TEN HE T B

2. 3 HE W IE 4 T WA R FHA T ¥
50% B fHer
ST ¥ SF-T/4 FUF oA /272
(a) aa 1
(b) Haa 2
(c) 1 3R 2 T
(d a1, 782
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20. When a bill is passed by the state legislature and
brought for the consideration of the Governor, he/she
has the right to-

1. Give his assent to the bill.

2. Reserve his assent to the bill.

3. Reserve the Bill for the consideration of the
Prime Minister.

4. If the bill is a money bill, return it to the state
legislature for reconsideration.

Code:
(a) 1only (b) 1and 2 only
(¢) 1,2 and4 only (d) All of the above.
21. Under which ministry does the National Monuments
Authority (NMA) work?

(a) Ministry of Personnel

(b) Ministry of Home Affairs

(¢) Ministry of Culture

(d) Ministry of Education
22. Consider the following pairs:

Major Exercise Country

1. Simbex — India and Sri Lanka

2. Samudra Shakti - India and Indonesia

3. Yudh Abhyas - India and America
Which of the above pair(s) is/are not correctly
matched?

(a) 1only (b) 2 only

(¢) 1and?2 only (d) 1 and 3 only

23. Consider the following statements:
1. The Ease of Doing Business Project was
launched during the year 2014.

2. India was ranked 63rd in the Ease of Doing
Business Ranking-2020.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(¢) Both 1and2 (d) Neither 1 nor 2

24. With reference to the Prime Minister's Citizen
Assistance and Relief Fund (PM CARES Fund),
consider the following statements:

1. Itis not a government fund.

2. The amount donated to this fund will get 50%
exemption from income tax.

Which of the above statement(s) is/are false?
(a) 1only
(b) 2 only
(¢) Both 1and2
(d) Neither 1 nor 2

A @ 8448485518, 8130392359
3-7at: helpline@groupdrishti.com, IR : www.drishtilAS.com
ﬁﬁ_ﬂﬂﬁ?: facebook.com/drishtithevisionfoundation TE&IeX: twitter.com/drishtiias

Copyright — Drishti The Vision Foundation



25.

26.

217.

28.

29.

30.

TG GURIA® HRaE (PCA) @9 9 Fafod
freafafaa weml W faer Fifsa:
1. PCA @f=n Sehi W e fiwmd o & qefaedt
BEILT 1 GerH S B
2. PCA W&l aeIR e GHfea s 2
3. 3O IGRYA WRAE SfRT @ § NPA Wi
T 1 S w2

I A § W HE-E/E A /2?2
(a) w1 (b) e 2 3R 3
(c) Wae 1 3N 2 (d) T @ =g

T & A == ¥ @ faeer e dEE e &
fawa o frefafad wemi § 9 wH-G/8 o6 ™ €/
&7
1. a8 v & fod uneeff @@ & @«
FAfed § e i glauss s
2. SUAM ¥ WRAE S Wl i w@ot dfmT
ETF = % &1 safa & T 2

he:
(a) ®aa 1 (b) Had 2
(¢) 1 &R 2 g (d Fd 1,72

qfegufa qafmior ®afal (ARCS) & HMHHS &
oeften & o wrd@ fiod o 3 fed @ eft:
(a) g o7 wfafa  (b) <ivew Ot gfafa
(c) gomuaw wfAfd (d) e =i wffa
Aok HY Scacenar Rard SHH-6 deen S !
22

(a) ETIHE gl

(b) St 3

(¢) WFP HES¥H

(d) R Fichsl Ak WiheeX T ARE ARIH
Hifse fifa @ffa (MPC) & Hed ¥, frefafaa
FAl R four wifs3:

1. % RBI fufwm, 1934 & dea Tenfyq T

SuTien 3R HEmTd & @

2. RBI & TaR MPC & W& 31e7el B
ST weA § ¥ HE-T/A T 22

(a) woe 1 (b) Fad 2

(¢) 1 R 2 T (Fd1, T2
fava srgmmar fuid-2022 fr=fafaa & @ fFg
e gRI YT i TE 22
(a) o€ TRl o
(b) fava = MM
(c) ATFTHH TTHIFAA
(d) HgF T faew™ wrw

25.

26.

27.

28.

29.

30.

With reference to the Prompt Corrective Action
(PCA) framework, consider the following statements:
1. The PCA framework enables the Reserve Bank
of India's supervisory intervention over banks.

2. PCA ensures effective market discipline.

3. Its objective is to check the problem of NPAs
in the Indian banking sector.

Which of the above statement(s) is/are false?

(a) 1 only (b) 2 and 3 only

(¢) 1and?2 only (d) none of these.
Which one of the following statement(s) is/are false
about the recently discussed 'Silver Exchange Traded
Fund'-

1. This will make it convenient for investors to
invest in all commodities in a transparent
manner.

2. Currently, Indian mutual funds are allowed to
launch gold tracking ETFs.

Code:

(a) 1 only (b) 2 only

(¢) Both 1and2 (d) Neither 1 nor 2
The Reserve Bank of India was constituted to review
the functioning of Asset Reconstruction Companies
(ARCS):

(a) Sudarshan Sen Committee

(b) Deepak Mohanty Committee

(¢) Subramaniam Committee

(d) Amitabha Ghosh Committee
Which organization releases the Global Agricultural
Productivity Report?

(a) University of Massachusetts

(b) Virginia Tech

(c) WEFP Foundation

(d) Bayer College of Agriculture and Life Sciences
With reference to Monetary Policy Committee
(MPC), consider the following statements:

1. It is a statutory and institutional framework
established under the RBI Act, 1934.

2. The Governor of RBI is the ex-officio chairman

of the MPC.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both 1and?2 (d) Neither 1 nor 2

World Inequality Report-2022 is published by which
of the following institutes?
(a) World Inequality Lab

(b) World Justice Commission
(¢) Oxfam International

(d) United Nations Development Program
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31.

32.

33.

34.

35.

36.

ad & fefSea sifaen = ded o, ffafea
ol R fa=m Fifed:

1. HESe &5 % Sl (PSB) % @IS 72%
foritar T fefsedt ==eq & ream 9 5
Il

2. o] T HEEd el % e 9 R T
foxitar -39 #1 ewRl st fam o
2020-21 W 76% @ T @I

S weAl § ¥ wE-T/d g 22
(a) ®aa 1 (b) Fad 2
(¢) 1 R 2 T (T 1, TE2

frefafad foredl § 9 ®A-9 0 oTE@T 272
(a) TR @R HE A : T 2016
(b) umEs fram T My fgE@e) 2018
(c) TuFES Wty Fre : S[EE 2020
(d) JuES T He : S 2020

TR AT

WA st 2050 afEsEn & ged o, Frafafed

FeAl W =R Fifs3:

1. =9 URESH i A 3R i Sst HeH
(IMO) 3R 99 ®9 ¥ Haraa fean
2

2. 39 UfES A UHE 35evd 9uEl uiEed
I HI FH FEA S AT & &I H
fafdd w2

ST | @ SE-G/A weF W 222
(a) o | (b) Fet 2
(¢) 1 R 2 T (dFd1,TE2

A & H STHEMEE W AEd &g gRen ot
T SIS Fel W g2

(a) R (b) =f¥fTe St
(c) TR (d) 7 feeeft
Wﬁﬁ,ﬂﬁwwwmualuse
Technology) & & H T{9uM d fasm™ &l agm@
[ F fod 9Ra 7 fFa <9 & Wi fguafa TemR
TR W R A2

(a) WG (b) 3T
(OREEERES (d) &5

T | sgafdad ‘S-400 N yumedt’ few weR 9
FE w72

(a) TAE-U-TdE W AR HH el e

(b) TaE-"-TAN H UR W arel fHara

(c) BTA-U-HAE W AR HLA arell s

(d) TA-W-TAN H UR FHH arel HEEa
|W31W I 2

The Vision (General Studies) (Magazine Test)

31. With reference to the digital ecosystem of India,
consider the following statements:
1. About 72% of the financial transactions of
Public Sector Banks (PSBs) are done through
digital channels.
2. The share of financial transactions done
through domestic and mobile channels has
increased to 76% in the financial year 2020-21.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
32. Which of the following pair is false?
(a) Soil Health Card : February 2016
Scheme

(b) Prime Minister Kisan : December 2018
Samman Nidhi

(¢) Pradhan Mantri : July 2020
Svanidhi Yojana

(d) Prime Minister Garib : June 2020
Kalyan Employment
Campaign

33. With reference to the 'Green Voyages 2050 project’,
consider the following statements:

1. The project is jointly conducted by Norway
and the International Maritime Organization
(IMO).

2. The main objective of this project is to convert
the sea transport industry into a low carbon
emission industry.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both 1and?2 (d) Neither 1 nor 2
34. Where was the third 'Regional Security Dialogue' on
Afghanistan held recently?
(a) Kabul (b) Washington DC

(c) Tashkent (d) New Delhi

35. Recently, India signed a bilateral innovation
agreement with which country to promote research
and development in the field of dual-use

technologies?
(a) France (b) America
(c) Israel (d) Russia

36. How does the recently talked about 'S-400 defense
system' work?
(a) Surface-to-Surface Missile
(b) Surface-to-Air Missile
(c) Air-to-Surface Missile
(d) Air-to-Air Missile
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37.

38.

39.

40.

41.

FEF TIAF FI T W Yok € (CBIC) &
Tay § frefafed oMl © fommr Sifs:

1. I8 fod Homer™ & 27l Uorea fasm k1 feemn
2

2. GST @I 8H & o8 g S8 Yook T
1 e a€ (CBEC) @1 919 agatshi CBIC

Y T =
ST FUA ¥ ¥ FE-A/8 & 222
(a) ®ad 1 (b) Had 2
(c) 1 3 2 g (@1, A2

‘HRE AE U’ (COP) & day § fefafaa
FAl R fomr Fifs3:

1. COP, Sie@y UREdd W §gad T HHash
FIE (UNFCCC) &1 foia o aren Tatea
e 21

2. COP-27(2022) &1 3RISH ¥ & IH-37a-31@
o foan e

3. COP ! Teell siaeh A, 1995 | =i (SeHT)
o smefed w1 T ot

S weAl § ¥ wE-T/A g 22
(a) el 1 3R 2 (b) e 2
(c) e 2 3N 3 (d) Swg wefh

frafafad § 9 aE dqed (BOP) & weshi |
st 2-

1. =] @ 2. YSi @t

3. JA-Tg% 4. o=zt g1 wer
h:

(a) ®oe 2,3 34 (b) Had 1, 2 3N 4
(c) ae 1 3N 3 (d1,2,3 34

~

frfafed wul w fa=m wifsa:
1. Tt feeq sifermy fefigae Fefaa dfaum
F B AGA F qed T Tk FwE 7
2. Wfau™ w1 St STIgE ¥ o15m, werer, gy
AR ool § SASIdE &5 % YemEA W
e 2l
IR EF T weA § ¥ HE-wA T 27
(a) 9 1 (b) Fa 2
(c) 1 3R 2 < (A1, A2
Tigd 1w & Ged § HHE-/A FeF qE 2R?
1. oIfaRe @R e & Wid | TR A
U At 2 A
2. HAfTR I @A 7e e T

h:
(a) ®ad 1 (b) Had 2
(c) 1 & 2 T (d Fd 1, T2

37.

38.

39.

40.

41.

With reference to the Central Board of Indirect Taxes
and Customs (CBIC), consider the following
statements:

1. Ttis part of the Department of Revenue under
the Ministry of Finance.

2. After the implementation of GST, the name of
the Central Board of Excise and Customs
(CBEC) was changed to CBIC.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2
‘With reference to the Conference of the Parties
(COP), consider the following statements:

1. The COP s the supreme decision-making body
of the United Nations Framework Convention
on Climate Change (UNFCCC).

2. COP-27 (2022) will be held in Sharm-el-
Sheikh, Egypt.

3. The first meeting of the COP was held in Bonn
(Germany) in March 1995.

Which of the above statement(s) is/are correct?

(a) 1and 2 only (b) 2 only

(¢) 2and 3 only (d) All of the above.
The components of balance of payments (BOP)
include-

1. Current Account

2. Capital Account

3. Mistakes

4. Foreign Exchange Reserves

Code:
(a) 2,3 and4 only
(¢) 1and 3 only

(b) 1,2 and 4 only
(d) 1,2,3and 4
Consider the following statements:

1. The Khasi Hills Autonomous District Council
is a body constituted under the Sixth Schedule
of the Constitution.

2. The Sixth Schedule of the Constitution
provides for the administration of tribal areas
in Assam, Meghalaya, Tripura and Mizoram.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(¢) Both 1and2 (d) Neither 1 nor 2
Which statement(s) is/are correct about the Treaty of
Yandub?

1. The provinces of Tenasserim and Arakan were
given to the British by the Burmese government.

2. Manipur was recognized as independent.

Code:
(a) 1only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
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42. BT B H ARl fopufea o eash o fohg vrda

&Y & enfhe T T B2
(a) #R (b) ST
(c) TRIUTEHt (d) 3TEHTER

43, frfafaa Foai ) faar wifs:
1. ST A § SRR Gl Ud G & o
1 fasor 3w foRen S em
2. S fested R 754 WA § d9R HY

STt eft
SugH U RE-"/A we T B/R?
(a) ®ad 1 (b) Had 2
(c) 1 R 2 g (d Fd1, T2

44. ffafad woi | faer sifs:
1. TgH JUmEfdm gaX  FRadR TE™
% " Th odl & ®9 ° GEE fHer 2l
2. HFRAUR S sheer, ARER 3R STEIEaR
AHE THIE BT Th G GE €
ST Al § ¥ FE-H/E HeH TE 287
(a) *ae 1 (b) Fet 2
(¢) 1 R 2 T (d Fd1, T2
45, T @ § %% TWHR 7 SeHH IR R €7 v
% ‘USe eREe’ W AW PRl @l g
(a) WP IS (b) AR AT
(c) WS TS (@ T ¥ 7
46, AU SHSMG Afuftag (HidT) & ded o
HH-A/E HUE TEl T 2?2
1. Ugen SMuIfye Senfa eIfufrem 1872 @i
IW 9Rd § @r] feman
2. 39 sfyfem & d@d WRd H e A
grTfSeh TRl & TS ST’ W
et AT & 7 & w9 H R

foram = e
e
(a) woA 1 (b) Fad 2
(¢) 1 &R 2 T (d Fd1,TE2

47. BREE = h Tedd Sif@d 9N e
AESH e AR HE g2
(a) 1940, a§ (b) 1940, I
(c) 1940, TR (d) 3 ¥ & =
48. frAfafaa wuai ) faar wifsa:
1. 199 W& H TS H Ueel JA% 9% Fall

gfes o
2. 199 TS o SR TS TR H Bl T
el gfEg e
ST wedl § ¥ FA-A/A wE /2
(a) ®a 1 (b) Faa 2
(¢) 1 &R 2 g ( Fd 1, T2

42. Which Indian city has been included in UNESCO
Creative Cities Network recently?

(b) Jaipur

(d) Ahmedabad

43. Consider the following statements:

(a) Srinagar

(c) Varanasi

1. A mixture of cotton and gold thread was often
used in Jamdani weaving.

2. Bandanna designs were mostly made in

Madhya Pradesh.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2
44. Consider the following statements:

1. Pasumpon Muthuramalinga Thevar is
respected as a deity among the Mukkulathor
community.

2. The Mukkulathor community is a composite
group of communities named Kallar, Maravar
and Ahambadiyar.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(¢) Both 1and2 (d) Neither 1 nor 2
45. Recently the Central Government has renamed
'Mount Harriet' of Andaman and Nicobar Islands:
(a) Mount Dhwaj (b) Mount Manipur
(¢) Mount Khongjom  (d) None of these.
46. Which of the following statement(s) is/are not correct
in the context of Criminal Tribes Act (CTA)?

1. Thefirst Criminal Tribes Act, 1872 was enacted
in North India.

2. Under this Act 'non-bailable offenses' of ethnic
or social communities in India were defined
as those habituated to systematic campaigns.

Code:
(a) 1 only (b) 2 only
(¢c) Both 1 and?2 (d) Neither 1 nor 2
47. When and where was the first All India Conference
of Forward Block held?
(a) 1940, Bombay (b) 1940, Poona
(c) 1940, Nagpur (d) None of these.
48. Consider the following statements:

1. Patola weaving textile art was famous in
Rajasthan in the 19th century.

2. Chhint textile art was famous in Rajasthan and
Gujarat in the 19th century.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
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49. et fopufea fadis Feas & wfra vedl ® foar
Hifs:

el it
AR - fure9 SR i e
FER - Eild 1 A e
ELE - qreh el
SrH o § wA-T/8 g g gafaa 227
(a) wae 1 (b) e 2 3R 3
(c) ®ae 1 3R 3 (d) ST e

50. @ 1720 ®, fafesr @R $ode o gfga gt a@d
& AN W Hfdse R STell HiA-9 S o off?
(a) S sfufem  (b) =iea sfufem
(c) ferrl afufam  (d) 39 9 =i &
51. ‘79 € o’E Whe' (GDAM) & Hay § famfafaa
ol R fa=r Fife:
1. GDAM & 91 &g ot Teh0MT FHell IcureA
U TFIDS I TAhLONT el bl TATIAT
AR faept =T geel 21
2. WRA g H THAE a9 faRE AR R,
oA farie 9 9 Teweia o ?g 0H
2 3RE T’ (GDAM) URY e 2

STfE weAl § ¥ HE-EA "l 22
(a) He 1 (b) Fa 2
(¢) 1 &R 2 T (dFd1, T2

52. 3@ B W ==l ° W P sem’ fefafad ® 9
foh Sed 1 QU H T AT Tl »?
(a) <feror wferE oW & Ffa SRl * S
(b) FEEEATE & fad A THeA qed WRH
HE
(c) o AF ¥ HfY IUS HT AESIE H G
TN
(d) TR H o H a5
53. fAfafea wu | fo=R Hifse:
1. 39 A9 T el Wl ®, e 9 gerel
STl ! Tde W U Sl 2l
2. 3TF TR @ FHIe ik HT ScHH el
®, TSRt 9T =1k ®9 9 SfiEmieTEe 2R
% ford 39 fohd ST arel WR | T gafat
TS & ®9 § fHan o B
3. U8 T WAl 9y Y5 Td STHHA! & W
i Frefor 2q feeR 2
IR HU Halfgw 9gH &9 9 ffafea §
T forg e MR 1 9o F 7?2
(a) e (b) T TTFARTEE
(c) TR (d) SFARTRIH

49. Consider the cities included in the UNESCO Creative
Cities Network:

City Category
Jaipur — Crafts and Folk Art
Hyderabad — Creative City of Music

Chennai — Cooking

Which of the above pair(s) is/are correctly matched?
(a) 1only (b) 2 and 3 only
(¢) 1 and 3 only (d) All of the above.
50. In the year 1720, the British government brought
which law banning the use of printed cotton fabrics
in England?
(a) Carrick Act (b) Yandub Act
(c) Calico Act (d) None of these.
51. With reference to 'Green Day Ahead Market'
(GDAM), consider the following statements:

1. With GDAM any renewable energy generation
company can install and sell renewable energy
on the exchange.

2. India is the only largest electricity market in
the world to have launched a 'Green Day Ahead
Market' (GDAM) exclusively for renewable
energy.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(¢) Both 1and2 (d) Neither 1 nor 2
52. 'Krishi Udan', which was in news recently, aims to
fulfill which of the following objectives?
(a) Linking agricultural markets of South Asian
countries.
(b) Providing a minimum support price for
bioethanol.
(c) Facilitating the movement of agricultural
produce by air.
(d) Conversion of straw into fuel.
53. Consider the following statements:

1. Tt is called marsh gas because it is found on
the surface of marshy places.

2. Its incomplete combustion produces carbon
black, which is widely used as a reinforcing
agent in rubber used for automobile tyres.

3. Itisadangerous air pollutant and is responsible
for ozone build-up at the ground level.

The above statements most appropriately describe
which of the following carbon compounds?

(a) Methane

(b) Carbon Tetrachloride

(¢) Nitromethane

(d) Chloroform
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54.

55.

56.

57.

58.

59.

frfafad § § # aret & F TE B TR F
oAl el ¥ o4 A €, fEH Sl &R fEw
YeTshi 1 319 SFIHE R TeTaR URad & gt
1 U 0 H1 EvFshar 872
() fFcis (b) =fiefs
(c) el (d) TS
TR 3R 9RA & di= Tk @& AT oS Ter
Haferd 2-
(a) TE-wfdEw ¥ (b) g uT &
(c) e ¥ (d) ¥ foiw =t ©
AT Saaqie S % Heo o fefaiad wemt
T foar Fifea:
1. o 1 SEvd WhEd & fagidl & egER
affefen foenta 1 wgran &1 2

2. d i U@ ¥q g ¥ 9 € T 9 w1
HA SHEE 1 Tk Hied 1qud g
BT =Tl

St weA § @ sE-|A w9l 222
(a) Had 1 (b) o 2
(c) 1 3 2 g (@@, A2

frafafad 9 9 form Tsa/asentad w3 g
rgare faeen sfere’ Sfar 272
(a) =g (b) T
(c) THlem (d) e
freAferiad & § i SR RG] SEETEl
M = ded Tenfug fed wmen?
1. STE-wed U FFRE gomett|
2. IEREST & g IR A TS eeE|
3. <feu-vd TRen &= | fove @ |§1ed
&g STHUN T
F= & T w2 w1 T FR AL W G
(a) Wee 1 3N 2 (b) e 1
(c) e 2 (d 1,2 33
TR GEAIHl & Fa9 | fAfafeaa se ) fa=ar
Hifea:
1. 3R AT I H GIH dEl STEe
ferfitfoream & &t 21
2. 9RA 7 I & faars wEa & wet
Al
ST weAl § ¥ FA-A/A TE /2
(a) ®ad 1
(b) Had 2
(¢) 1 &R 2 T
(d Fd 1,982

54.

55.

56.

57.

58.

59.

Which of the following has recently become the first
country to pass a law that requires banks and
investment managers to report the effects of climate
change on their business?

(a) Finland (b) New Zealand

(c) Canada (d) Ireland
A defense exercise ‘Vajra Prahar’ between the US
and India is related to-

(a) Tri-Services

(b) Air Force

(c) Navy

(d) Military Special Forces
With reference to 'Islamic Development Bank',
consider the following statements:

1. The objective of the bank is to promote
economic development in accordance with the
principles of Shariat.

2. The basic condition for the membership of the
bank is that a certain proportion of the total
population of the country should be Muslim.

Which of the statement(s) given above is/are correct?

(a) 1only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2
Which of the following states/UT has won the
'Sustainable Transport System Award'?

(a) Chandigarh (b) Kerala

(c) Karnataka (d) Goa
Which of the following will be set up under Ayushman
Bharat Health Infrastructure Mission?

1. IT-enabled disease surveillance system.

2. Four new national institutes for virology.

3. Regional Research Forum for the World Health
Organization in the South-East Asia Region.

Select the correct answer using the code given below :
(b) 1 only
(d) 1,2and 3

With reference to the Uighur Muslims, consider the

(a) 1and?2 only
(c) 2only

following statements:
1. The largest population of the Uyghur ethnic
community lives in Kyrgyzstan.

2. India strongly condemns the brutality against
Uighurs.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2
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60. ‘T S0 SoEeA’ & Hed o fr=fafes wud W
femm wifsr:
1. THH M I WERH 19 I 3R

AAER0T § fehrel MU MRSy 19 S &
e He w@fud e 9 2l
2. 7 iR SRR & aK TRG CO, BT A
Tl el SeES g
ST weAl § ¥ HE-T/A T 22
(a) Had 1 (b) o 2
(c) 1 3 2 g (@@, A2

61. eIt sTafiTe/d=w & Hed # fr=fafed o
R foar wifsa:
I. 9O FEYH R R Hwon H geiaitn
F F AT H Ieod 2
2. W SR AR TEEA @ FE B
YFRTUT, TEERU 3R fued & fed wra
1 TEelt 3-Ha foafe srare o wenfuq &t
™ R

STYF FoAl B ¥ BE-T/E & 222
(a) ®ad 1 (b) Had 2
(c) 1 &R 2 T (d Fd1, T2

62. Traferfea & @ wiF ‘i wifed’ &1 @i oo
LA 8?2
(a) I€ 9RA AR U ® o9 Th fgusig 4=
A B
(b) & 9Rd, HAOTH 3R UIew % de TH
Fref A0few st 2
(c) TE WA, et 3R TWIew & = T Bref
=1 1 B
(d) TE 9Ra 3R et & o= wF fguaig a=
A B
63. Fafafaa ol W foar wifs:
1. 9% YRd TS Wi & o9 9o a8l Gga
T ieror R e WA A €
2. 30 ‘it et Ufafrer aRiT W’
o TEd YE foha1 T o1 SR 3 S <9 %
ar a-a 9 et feRen St @)
3. 39 AW H1 1691 TR0 B 2021 H
R (TSEAE) & HESH Hhics HET

IS ¥ erEiftsa o e em

SR Fwed frefafad o @ fFa 1w &1 gad
IUgH T W U W B2

(a) I& S

(b) I gfean

(c) TR TR

(d) T W

60. With reference to 'Net Zero Emissions', consider the
following statements:

1. It is meant to establish a balance between
greenhouse gas emissions produced and
greenhouse gas emissions removed from the
atmosphere.

2. India is the third largest emitter of CO, after
China and the US.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(¢) Both1and2 (d) Neither 1 nor 2
61. With reference to electronic waste, consider the
following statements:

1. The Nairobi Declaration of the Basel
Convention mentions the management of
electronic waste.

2. India's first e-waste clinic has been set up in
Bhopal for segregation, processing and
disposal of waste from domestic and
commercial units.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
62. Which of the following best describes about 'Mitra
Shakti'?
(a) Itisabilateral military exercise between India
and Nepal.
(b) Itis a trilateral naval exercise between India,
Mauritius and Seychelles.
(c) Itisatrilateral military exercise between India,
Sri Lanka and Seychelles.
(d) Itisabilateral military exercise between India
and Sri Lanka.
63. Consider the following statements:

1. This is the largest joint military training and
defense cooperation effort between India and
the US.

2. It was launched under the 'American Army
Pacific Partnership Program' and is conducted
alternately between the two countries.

3. The 16th edition of this exercise was conducted
in February 2021 at the 'Mahajan Field Firing
Range' (Rajasthan) in Bikaner.

The above statements most appropriately describe
which of the following exercises?
(a) Yudh Abhyas

(b) Cope India
(¢) Tiger Triumph
(d) Vajra Prahar
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64. ‘T gHETfaER A’ & §ed ¥ frefafea
ol R fa=r Fife:
1. EM % oAy R geE w1 FEfa 9a
% YUFHA hl ALFed Al B8 &I
ofafa grr =1 St 21
2. Fege IR W A o & erEfy & ford
1 65 T HI Y WA HIA ah, S Al Twed
81, T8 YN0 Y B
3. Y@ TRt A w1 St ST sfed BH
T oY 9% qh & T Hehal &

ST FwUAl § ¥ HE-T/A T w22
(a) ®od 1 (b) Fee 1 3R 2
(c) @ael 2 ¥R 3 (d 1,2 3R 3

65. W2 AF FEHe wides fur-2021 & a9 o
frefafad wol W faar S

1. 39 fova digw faam@ "me (WMO) gR1 ST
e ST 21

2. fumel < <ol  9RA 1 SiEd reltd Sia
HUgU (TWS) q&uN dftaw siteq @
aAferes 21

3. 9R & SW-JAl 9 A I % AR ey
afferr TWS &1 =1 3rgwe foman 21

ST HUAl § ¥ wE-T/d g 22
(a) Woe 1 3N 2 (b) e 2
(c) el 2 3N 3 (d 1,2 33

66. frfefad & @ wH-QU/A 99 9 IRA-TH
% ot arEits feran san &/fRa s 872
1. @ aIfeR 2. TS
3. IR 4. e W
= <8 U T2 w1 T@ X HE SW g
(a) ael 1 3R 3 (b) Hae 2
(c) ®aa@ 1,2 33 (d)1,2,3 34
67. ' ST YRA @ed e faem’ & wed #
frafafad weaal W fa=R wifva:
1. 3% WH 9 <9 F U A ¥ HH e
ol |l forell o TR fohfeher R
BIfeqee scifeh & HIeam ¥ fehfeshal Shaw damd
TS B
2. TG AN % G8d U WA Twd & ol
IR T He wefud R S
F= @ T w2 F YA FROFE IW HT T
Hifed:
(a) wa 1
(¢) 1 3R 2 <A

(b) Faa 2
(d T, T2

64. With reference to the 'National Human Rights
Commission', consider the following statements:

1. The chairman and members of the commission
are appointed by a six-member committee
headed by the Prime Minister of India.

2. The Chairperson and the members hold office
for a term of three years or till they attain the
age of 65 years, whichever is earlier.

3. The commission can investigate a case only
after one year of its occurrence.

Which of the above statement(s) is/are not correct?
(b) 1 and 2 only
(d) 1,2and 3

65. With reference to the State of Climate Services

(a) 1only
(¢) 2and 3 only

Report-2021, consider the following statements:

1. It is issued by the World Meteorological
Organization (WMO).

2. India's average terrestrial water storage (TWS)
loss over the past two decades is higher than
the global average.

3. The north-eastern part of India has experienced
the highest TWS loss within the country.

Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 2 only
(¢) 2 and 3 only (d) 1,2 and 3
66. Which of the following joint exercises is/are
organized between India-UK?
1. Ajay Warrior
3. Konkan

2. Passage
4. Garuda Shakti
Select the correct answer using the code given below :
(a) 1 and 3 only (b) 2 only
(¢) 1,2 and 3 only (d) 1,2,3and 4
67. With reference to '"Ayushman Bharat Health
Infrastructure Mission', consider the following
statements:
1. Through this, critical care services will be
available through exclusive critical care
hospital blocks in all the districts with a
population of less than five lakhs of the
country.
2. Under this scheme, four national institutes will
be set up for a health initiative.
Select the correct answer using the code given below :
(a) 1only
(b) 2only
(¢) Both 1 and?2
(d) Neither 1 nor 2
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68. fr=fafaa o fva wae@ g7 A & o amamm
it A BeE B sl e T 3
(a) Y& HAe"
(b) AN IS HACH
(c) IoiRfeh SR T Urifiehl Harem
(d) fo=m @R dreifieht H=merE
69. T & ° fAfafad ¥ 9 fog T TR g0 T
T ITHRAR USRSt 2020 wfka fean
T, fsE 230,000 iaHE aelt @t deniat § 75
gfaerd T & Sifardt Sefarl & fod smfara
el grauE faean T 22
(a) B (b) dSIE
(c) foRr (d) TET W=
70. ‘Affee feam’ & ded # fr=fafed womi W fa=ar
Hifea:
1. &7 (CAG) WM &1 Ufdeifie Tmor i
fafgd &0 & f@ 16 /R—ER, 2021 Hi 9@
Fifee fer® wAm@n T
2. THH SR IR IR G I g
T B4 &7 (CAG) & UY5 aNEH i F&iim
HET R
I= @ T w2 w1 T w WE IW R I
Hifea:
(a) ®ad 1

(b) Had 2
(¢) 1 3R 2 A (@ F@1AE2
71, ‘GEU T A H GG B
(a) SRR @ (b) Tt @
(©) we1 ¥ (d) SR H H I T

72. ‘fi9 2-3®RT Wehe (GDAM)' & G o -4
FoF T T 22
(a) A¥F@ wre fedm ¥ (NLDC), WrEieh!
SEuu &1 Fed TSE B
(b) TR, T AR SerEry IRed HAeE g
TEH IR feman T R
(c) 9 q&d his i TAHIUI Tol e Hut
TS W AR Sl Rl Tl SR
foehl T Tehdl 2B
(d) SHETA YR T Fel IR fove 1 THAs
21 faga IR 21
73. 0 SgM2.0 % Feof ¥ frefafed & @ sF-w/4
Fo T 22
1. 39 AN & GRA FfY & fRFEE FHem
e gr1 feRan e 2
2. TH A % AT TeISt &, Jar Il
R enfeart &5 § wE ERa @ SaR
% Eed W &AM Hisd fwan smom
3. W 9N % 100 eaEeEEl W wfgd
il

68. Traffic Management Policy Framework for Drones
has been notified by which of the following ministry?
(a) Ministry of Defence
(b) Ministry of Civil Aviation
(¢) Ministry of Electronics and Information
Technology
(d) Ministry of Science and Technology
69. Recently, which of the following state governments
has passed the State Local Candidates Employment
Act, 2020, in which 75 percent of all jobs of 30,000
per month have been reserved for the domicile
candidates of the state?
(a) Haryana (b) Punjab
(c) Bihar (d) Madhya Pradesh
70. With reference to 'Audit Day', consider the following
statements:

1. The first audit day was observed on 16 October
2021 to mark the historic establishment of the
CAG Institute.

2. Its objective is to highlight the rich contribution
of CAG in promoting transparency and good
governance.

Select the correct answer using the code given below :
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
71. The Retail Direct Scheme' is related to-
(a) RBI (b) SEBI
(c) IRDA (d) None of the above
72. Which statement is not correct in the context of 'Green
Day-Ahead Market (GDAM)'?
(a) National Load Despatch Center (NLDC),
POSOCO is the nodal agency of GDAM.
(b) It has been launched by the Ministry of
Environment, Forest and Climate Change.
(c) Under this, any renewable energy generating
company can install and sell renewable energy
on the exchange.
(d) India is the only largest electricity market in
the world to have commissioned GDAM.
73. With reference to Krishi Udan 2.0, which of the
following statement(s) is/are correct?

1. This scheme has been started by the Ministry
of Agriculture and Farmers Welfare.

2. Under this scheme, the focus will be on
transportation of perishable food products in

hilly areas, northeastern states and tribal areas.

3. It will be focused on 100 airports in India.

(General Studies) (Magazine Test)

The Vision

|vmma¢sm=r it 2

TXATY : 8448485518, 8130392359
- helpline@groupdrishti.com, S8 : www.drishtilAS.com

ﬁﬁ_ﬂﬂﬁ?: facebook.com/drishtithevisionfoundation TE&IeX: twitter.com/drishtiias

Copyright — Drishti The Vision Foundation



74.

75.

76.

77.

78.

79.

80.

F= @ T HE w1 T R G IW HT T
EAIECE

(a) ad 2 (b) Fad 1 3R 2
(c) @ae 2 3R 3 (d 1,2 33

R G e B 2r s B | e 2 o B R RS R [ i s o
ez s’ Sfrar w82

(a) e (b) TSRTT

(c) & (d) HeWg

‘gRATe e fawen e’ frefafaa 4 9 faa
e g fEan S 22

(a) T UReed R TS e

(b) =R 3R SE Homed

(c) 3T R IEd amel & e

(d) @ "™

ael €1 | geu, @ iR wemm (THuHuHg) wAed
BN URY fRa T CHYE’ FEEE 1 GaY oo
(a) w@eed 9 (b) TSI |

(c) T ¥ (d) STTEeha @
Thidd dhure ae & Hed o frafafaa wemt
R fa=m wifea:

1. SE A % Al SESISTE & sfehT elehure
ST, TAUwET (NBFCs) & ford aterare
Ao AR TefSed oH-39 1 ek Fsr
Hfwfea €

2. 39 Al & Sfaid TR-eryfed weifis
el S ! wiwferd Tef foman @ 2

9 f&F T w2 w YA R OGE SR H TG
TS

(a) ®ad 1 (b) Had 2

(c) 1 &R 2 T (d Fd 1,92
R GHER-T0 § == @A el U, =i
fore SIEt vrsgraett 1 gy fRw sfaui e
e 9 272

(a) Ta¥9 MR HTeH (WTO)

(b) fawa =fef®w w= (WEF)

(c) SIS HT 1o (IMF)

(d) fo<fm FRamE wEe (FATF)

A & A THER-TE W SR i wHgE ==t
%1 fam @1 21 frafafad § 9 forg 39 & @™

Tg R Tl ©?
(a) 9RG (b) fEn
(c) T_l 3E (d) ==

@ & o feg 7emErr 9 waifaues (I0RA) &1
238 HeE HIF-91 27 & 27
(a) = (b) TIF T TR
(c) ®IF (d) I

74.

75.

76.

71.

78.

79.

80.

Select the correct answer using the code given below :
(b) 1and?2 only

(d) 1,2and 3

Which Indian state has recently won the 'Sustainable

(a) 2only
(¢) 2and 3 only

Transport System Award'?
(a) Goa
(c¢) Kerala

(b) Gujarat
(d) Mabharashtra
The 'Sustainable Transport System Award' is given
by which of the following ministry?
(a) Ministry of Road Transport and Highways
(b) Ministry of Commerce and Industry
(c) Ministry of Housing and Urban Affairs
(d) Ministry of Railways
The 'Sambhav' program recently launched by the
Ministry of Micro, Small and Medium (MSME) is
related to-
(a) Health

(c) Cleanliness

(b) Drinking water
(d) Awareness

With reference to the Integrated Lokpal Scheme,
consider the following statements:

1. Under this scheme, Banking Ombudsman
Scheme of IBI, Ombudsman Scheme for
NBFCs and Ombudsman Scheme for Digital
Transactions are included.

2. Non-scheduled primary co-operative banks
have not been included under this scheme.

Select the correct answer using the code given below :

(a) 1only (b) 2 only

(¢) Both 1and2 (d) Neither 1 nor 2
The term graylist, blacklist, which is often discussed
in newspapers, is related to which international
organization/body?

(a) World Trade Organization (WTO)

(b) World Economic Forum (WEF)

(¢) International Monetary Fund (IMF)

(d) Financial Action Task Force (FATF)
Recently, the Uighur Muslim community has been
the subject of discussion in the newspapers. With

which of the following countries is this issue

associated?
(a) India (b) Syria
(¢) Saudi Arabia (d) China

Which country has recently become the 23rd member
of the Indian Ocean Rim Association (IORA)?
(a) China (b) United States

(c) France (d) UK
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81. Trenmll sheaigM, 1944 o1 Geier Frferfiga o & fore €2
(a) wfeened & w@asa
(b) TR Heii AT
(c) WHETHHRR
(d) aFAN HT TEEAd
82. ferem =t =nfyer fearfa fid, 2021 & wed o =
H § HIH-91 HoH FEl & 22
(a) T WR W a0l 1 AHRA (51 T THR
Thall #1 @R 9 @I 2
(b) 6 ¥ 14 99 g M & SHAMIRG qodll &
I | HIE e T |
(c) T TR W g9 2018 | 30% W &H a=d
foft 2™ wed ofd 9 g ST 2021 §
GRS 100% B T B
(d) TREH eH & 1% Ot a=ai & ST & o
IS TE B
83. ‘Wt IAfueR Hufa fagee, 2021" & T3l o
= woAl W fo=m #ifsa:
1. =@ fadgs o 9 IR Afewn, <Al 9E-w=Al
& o= Ugeh Hufd o1 TAE faaor e i
ReFeq 1 T B
2. THT 3%a¥d W & 9O famor & fagi
T el wemeRienor B

S weAl § ¥ wE-T/d e 22
(a) ®ad 1 (b) Had 2
(c) 1 &R 2 g (d Fd1, T2

84. Hea Bed fefaferesm deuames ‘foto’ &t yeeTa
forg "™ 3 F1?
(a) A TF URER Hedm JAed
(b) TSR = SR SAfushiiar Jee
(c) FEAT T JERUT HATed
(d) T8 9 #E
85. T & W S Tgd BN sea-2021 H WRA |
M W 2?2
(a) 84df (b) 88aT
(c) 94af (d) 1o1af
86. ' IRGTA ST &1 qui wifert’ AeR YR w1 gEIE
form ot g wia e wmn?
(a) HIIH
(b) Hfewm o
(c) i@ sfean wiae =t
(d) = 9 w sfean

87. el frufed fads Jeas (UCCN) &1 9=t o
frefafad & § -9 IR L Wi ©2

1. SR 2. S

3. 4R 4. STEHER
e

(a) ae 1 3R 3 (b) ot 1 3R 4
(©) 1,3 34 (1,2, 334

81. Chicago Convention, 1944 is related to which of the
following?
(a) Freedom of women
(b) Nuclear power generation
(¢) Human Rights
(d) Freedom of Airway
82. With reference to the Annual Status of Education
Report, 2021, which of the following statement is not
correct?
(a) The enrollment of children at the national level
is moving from private to government schools.
(b) No change in the proportion of children
enrolled in the age group of 6 to 14 years.
(c) Nationally, in 2018 less than 30% of children
took private tutoring classes. This ratio has
increased to almost 100% in 2021.
(d) Even after having a smartphone, it is not
available for children's use.
83. With reference to the 'Khasi Succession Property Bill,
2021', consider the following statements:

1. The Bill envisages equal distribution of
ancestral property between brothers and
sisters, both male and female.

2. Its objective is economic empowerment based
on the principle of equitable distribution of
wealth.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
84. Which ministry launched the Mental Health
Rehabilitation Helpline 'Kiran'?
(a) Ministry of Health and Family Welfare
(b) Ministry of Social Justice and Empowerment
(¢) Ministry of Information and Broadcasting
(d) None of these.
85. Whatis the rank of India in the recently relased Global
Hunger Index-2021?
(a) 84t (b) 88"
(c) 94 (d) 101™
86. The resolution titled 'All Power to the Indian People’'
was passed by which party?
(a) Congress
(b) Muslim League
(c) All India Forward Bloc
(d) Communist Party of India

87. Which of the following Indian cities are included in
the list of UNESCO Creative Cities Network

(UCCN)?
1. Jaipur 2. Bangalore
3. Srinagar 4. Ahmedabad
Code:
(a) 1 and 3 only (b) 1 and 4 only
(¢) 1,3and4 (d) 1,2,3and 4
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88.

89.

90.

91.

92.

93.

frafafad 3@ | faer Sifva:

(URufter & welr)  (FAH)
1. ST g —~ [SIEEET
2. eIl g - Y W
3. iz - IW U=
4, s fesmeA - RSEIE]
I F G T g T e T 8
(a) Fael 1 3R 3 (b) o 2 3R 3
(c) o 3 3N 4 (d) Fa 1, 2 3N 4

dfafes fraea & ded o fefafad weAl
foam wifsre:

1. U WA HeTesh 1 STl HL B
2. TEHT IS 1000 FoHl. qo et R

3. THH ISM U el & IgHed & iR &

Bl B

ST A ¥ S/ FUT TE 2272

(a) o 1 (b) Fad 1 3R 2
(c) Fael 1 3R 3 (d 1,2 33
DART (2R) fiwm fr=fafed # 9 fog woidt @
Heifera 2?2

(a) e (b) s

(c) e (d) HieTed
T Rt #els & Sfed W SHia q&asw
forg-TTER T R

(a) TS ARTR X

(b) THTR TS TSRt

(c) Terarsht wrad

(d) fowama wifes
‘= sl &% wed | Frefafed wenl | faem
HIfS:

1. GIYAH SHHT FATURON Sfcsrad & sTefemest

e e 3 T W ef
2. 7E Gad faem@ @ed (SDG-14) W fxa 21

ST | @ SE-G/A weE e 222
(a) Had 1 (b) Had 2
(c) 1 3R 2 T (d Fd 1,72

AIEehIhIEHd SRR (MFI) % §ey # ffafaa
Fol R fa=r i
1. 7€ Td 3R FH M 9l URER H @Y
R0 TS 31 faita Yad YeE w2
2. I8 frdht srgfad afofsae si we R-sfw
forfta wufi & weaw @ 781, eifug s
frra & &9 % Hr 2

ST § W RE-T/E TG B/R?
(a) &I 1 (b) Had 2
(c) 1 &R 2 T (d Fd 1,792

88.

89.

90.

91.

92.

93.

Consider the following pairs:
(Traditional Textile Art) (Place)
1. Jamdani Weaving — Lucknow
2. Patola Weaving - Andhra Pradesh
3. Chhint - Uttar Pradesh
4. Bandanna Design - Rajasthan

Which of the above pairs are not correctly matched?
(a) 1 and 3 only (b) 2 and 3 only

(¢) 3 and4 only (d) 1,2 and 4 only
With reference to ballistic missiles, consider the
following statements:

1. Follows a parabolic trajectory.
2. Its range is up to 1000 km.
3. Itsflight path is within the Earth's atmosphere.

Which of the statement(s) given above is/are correct?
(b) 1 and 2 only

(d) 1,2 and 3

(a) 1only
(¢) 1and 3 only

DART mission is related to which of the following
agency?

(a) NASA (b) ISRO

(c) JAXA (d) CNES

Who wrote the book 'Shiv-Shaheer' based on the life
of Chhatrapati Shivaji Mahara;?

(a) Balwant Moreshwar Purandare

(b) Ramchandra Bhikaji Gunjikar

(c) Shivaji Sawant

(d) Vishwas Patil
With reference to 'Blue Economy', consider the
following statements:

1. Tts concept was first presented by the Belgium
economist 'Gunter Pauli.

2. It focuses on the Sustainable Development
Goal (SDG-14).

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
With reference to Microfinance Institution (MFI),
consider the following statements:

1. It provides micro loans and other financial
services to poor and low-income families.

2. It functions as an independent body and not
through any scheduled commercial banks and
non-banking financial companies.

Which of the above is/are false?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both1and?2

W oteaq | Wi e

(General Studies)

(Magazine Test)

The Vision

TXATY : 8448485518, 8130392359

- helpline@groupdrishti.com, S8 : www.drishtilAS.com

ﬁﬁ_ﬂﬂﬁ?: facebook.com/drishtithevisionfoundation TE&IeX: twitter.com/drishtiias

Copyright — Drishti The Vision Foundation



94.

95.

96.

97.

98.

99.

100.

A W ISl ZN UG ORI STEEE
fermioor 3R faem &' (NBFID) fae&, 2021
& fawa o fr=fafes soA w® fa=ar s
1. SHHT SO S 2021 H H T |
2. T TS Uk hiare e & &9 | fohar s,
Rt aAfirpd YRR G5 31 @G e BT

ST HUA § ¥ wE-T/A w22
(a) waA 1 (b) Fad 2
(c) 1 &R 2 T (@ Fd 1,92

o &5 o s S Yensti i agen < & faa
‘Hied $vEART faest’ (MIV) &1 Sa&Ron & fhaa
J&d fean?

(a) TR ford S

(b) &

(c) ARG Sftea st frm

(d) 9Rer st iR fosmm g
T & ° == 1 R e g Redfafaferdt afafa’
I A a9 2018 H foRR! STemer | foRan T2
(a) Sort ifremm

(b) TiRE e

(c) . geHIH

(d) ¥ ¥ = &I
o g ween S el €2

(a) Towa 5

(b) SR 71 W

(c) SAaUST o9 HeA

(d) o AREIF FRA
9 3k T (G7) & T Tl & G o
frefafaa § @ wF-a1 foshed 3@ 22

(a) FEes fwmmen, =, wig

(b) AT, S, S

(c) FTHT, e, A fehren

(d) wrg, s, S
SHIEFR Ta=He T & fawg | fr=fafea e
R faar Hifse:

1. 98 RIF3Tc %S HI e 8l Th HHfeeh ot

RIEEIS
2. W Ul (TTRREFR TaeHe ) fafm,
2014 g faf@faa feman smr 2

ST weH § ¥ HHE-G/A A 222
(a) ®ad 1 (b) Had 2
(¢) 1 &R 2 T (d Fa1, T2

T | == g @ R faem’ & wed § fefafea
HIAl R fa=R FIfS3:
1. 38 T iR T g w9 W famfad W
® 2
2. 39 IWE Hl 99 2024 H ‘sfefeniar feom
A ved AR % ¥ THYSAE wal H

g feran s
ST wAl § ¥ HE-T/A T 22
(a) e 1 (b) Hae 2
(©) 1 3R 2 T (@1, A2

94.

9s.

96.

97.

98.

99.

100.

Consider the following statements regarding the
'National Bank for Infrastructure Financing and
Development' (NBFID) Bill, 2021 recently passed
by Rajya Sabha:
1. It was announced in Budget 2021.
2. It will be constituted as a corporate body with
an authorized share capital of "1 lakh crore.
Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only
(¢) Both 1 and?2 (d) Neither 1 nor 2
Who introduced the concept of 'Model Insurance
Village' (MIV) to promote insurance related services
in rural areas?
(a) Reserve Bank of India
(b) NABARD

(c) Life Insurance Corporation of India
(d) Insurance Regulatory and Development
Authority of India
Under whose chairmanship the 'Corporate Social
Responsibility Committee', which was in discussion
recently, was constituted in the year 2018?
(a) Injeti Srinivas
(b) Gaurav Agarwal
(c) B. Subramaniam
(d) None of these.
Which international organization releases the "World
Employment and Social Outlook Trends Report'?
(a) World Bank
(b) International Monetary Fund
(c) International Labor Organization
(d) World Outlook Forum
Which one of the following options is incorrect in
the context of the member nations of the Group of
Seven (G7)?
(a) United Kingdom, China, France
(b) Germany, Italy, Japan
(c¢) USA, Canada, United Kingdom
(d) France, Italy, Germany
Consider the following statements about Infrastructure
Investment Trusts:
1. TItisacollective investment scheme just like a
mutual fund.
2. It is regulated by SEBI (Infrastructure
Investment Trust) Regulations, 2014.
Which of the statement(s) given above is/are false?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
With reference to the recently discussed 'Nisar
Mission', consider the following statements:
1. Tt is being jointly developed by NASA and
ISRO.
2. This satellite will be launched into unipolar
orbit in the year 2024 from the 'Satish Dhawan
Space Center in Sriharikota'.
Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
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